














EXISTING  DECK

MIN DRAIN SUMP 48"X48"

EXISTING  DECK

CLAMPING RING
REPLACE IF BROKEN OR
MISSING

                    NOTE:
1: CONTRACTOR MAY HAVE TO CUT OUT EXISTING
   DRAIN SUMP TO ALLOW FOR INSTALLATION OF NEW
   INSULATION AND DRAIN SUMP

 INSULATION AS
 SPECIFIED

TAPERED INSULATION
TO MATCH EXISTING
DRAIN BOWL HEIGHT
3_
4" PER FT MAX SLOPE

DRAIN STRAINER
REPLACE IF BROKEN
OR MISSING WITH NEW
CAST IRON STRAINER

EPDM UNDER
CLAMPING RING AND
SEALED
TO BOWL WITH WATER
STOP MASTIC

SEE 07 53 23 FOR
INSTALLATION INSTRUCTIONS

C

B

A

9 8 7 6 5 4 3 2 1

4" 5'-0" 5'-0" 5'-0" 5'-0" 5'-0" 5'-0" 4"

4"
5'-

0"
5'-

0"
5'-

0"
5'-

0"
4"

A203

2

3
A203

4
A203

MI
NI

MU
M 

1/8
" P

ER
FO

OT
 S

LO
PE

EXISTING ROOF DRAIN
LOCATION - SEE 6/A203

EXISTING ROOF DRAIN
LOCATION - SEE 6/A203

MI
NI

MU
M 

1/8
" P

ER
FO

OT
 S

LO
PE

MI
NI

MU
M 

1/8
" P

ER
FO

OT
 S

LO
PE

MI
NI

MU
M 

1/8
" P

ER
FO

OT
 S

LO
PE

MINIMUM 1/8" PER
FOOT SLOPE

MINIMUM 1/8" PER
FOOT SLOPE

MINIMUM 1/8" PER
FOOT SLOPE

MINIMUM 1/8" PER
FOOT SLOPE

HP = 7" HP = 7"

HP = 7" HP = 7"

HP
 =

 7"

HP
 =

 7"

HP
 =

 7"

HP
 =

 7"

TOP OF PARAPET
ELEV= 126'-0"

TOP OF PARAPET
ELEV= 126'-0"

TOP OF PARAPET
ELEV= 126'-0"

TOP OF PARAPET
ELEV= 124'-11"

TOP OF PARAPET
ELEV= 124'-11"

TOP OF PARAPET
ELEV= 124'-11"

TOP OF PARAPET
ELEV= 124'-11"

TOP OF PARAPET
ELEV= 124'-11"

LOWER ROOF

3
A203

4
A203

4
A203

5
A203

INSTALL BENT METAL TO MATCH COPING
OVER EXPOSED MEMBRANE AT END OF
VERTICAL PARAPET - CONFIRM WITH A/E

DEMOLISH BALLASTED RUBBER MEMBRANE,
INUSLATION, BUILT UP ROOF SYSTEM, GRAVEL STOP,

COPING AND BLOCKING.  FIELD VERIFY IF ANY
BLOCKING IS IN ACCEPTABLE CONDITION FOR REUSE -

CONFIRM WITH A/E

30'-8" 7'-7 1/2"

21
'-0

 3/
4"

20
'-8

"

NEW ROOF TOP UNIT

8

S101

C1C1 C1 C1 C1 C1 C1
C1

C1
C1

C1C1C1C1C1C1

C1
C1

C1
C1

"C1" - GALVANIZED 3 1/2" SCHEDULE 40 PIPE COLUMN

8

S101

9

S101

9

S101

S101
14

4321

5'-
4"

5
A203 8

S101

C

HIGH PARAPET
126' - 0"

EXST JOIST BEARING
124' - 0"

TREATED WOOD BLOCKING

CONTINUOUS ALUMINUM COPING - BOTTOM
EDGE TO EQUAL EXISTING

7"

2 1
/2"

FULLY ADHERED ROOF MEMBRANE OVER
CONTINUOUS VAPOR BARRIER AT BACK OF
PARAPET WALL

CARRY FULLY ADHERED ROOF MEMBRANE
OVER BLOCKING AND BRICK FACE BEHIND
ALUMINUM COPING

FULLY ADHERED ROOF MEMBRANE OVER 1/2" COVER
BOARD OVER TYPE 2 TAPERED INSULATION OVER
CONTINUOUS VAPOR BARRIER OVER 1/2" DECK
SHEATHING

EXISTING FACE BRICK

EXISTING CMU

EXISTING METAL ROOF DECKING

EXISTING STRUCTURAL FRAMING

VIF COPING / ROOF EDGE DIMENSION WITH TAPERED
INSULATION SHOP DRAWINGS

EXISTING RIGID INSULATION
AND GYPSUM BOARD

C

EXST JOIST BEARING
124' - 0"

TREATED WOOD BLOCKING

CONTINUOUS ALUMINUM COPING - BOTTOM
EDGE TO EQUAL EXISTING

CARRY FULLY ADHERED ROOF MEMBRANE
OVER BLOCKING AND BRICK FACE BEHIND
ALUMINUM COPING

FULLY ADHERED ROOF MEMBRANE OVER 1/2" COVER
BOARD OVER TYPE 2 TAPERED INSULATION OVER
CONTINUOUS VAPOR BARRIER OVER 1/2" DECK
SHEATHING

EXISTING FACE BRICK

EXISTING CMU

EXISTING METAL ROOF DECKING

EXISTING STRUCTURAL
FRAMING

4"

7"

LOW PARAPET
124' - 11"

VIF COPING / ROOF EDGE DIMENSION WITH
TAPERED INSULATION SHOP DRAWINGS

EXISTING RIGID
INSULATION AND GYPSUM
WALL BOARD

TOP OF PARAPET
124' - 11"

GALVANIZED 3 1/2"
SCHEDULE 40
PIPE COLUMN

MP-1 MECHANICAL
SCREEN OVER 3/4"
GALVANIZED HAT
CHANNELS

FULLY ADHERED ROOF
MEMBRANE OVER 1/2"
COVER BOARD OVER TYPE 2
TAPERED INSULATION OVER
CONTINUOUS VAPOR
BARRIER OVER 1/2" DECK
SHEATHING

FULLY ADHERED ROOF
MEMBRANE TO CARRY
VERTICAL FOR 8" AT COLUMN
TUBES - SEAL PER ROOF
MANUFACTURER
REQUIREMENTS

EXISTING
METAL ROOF
DECKING

EXISTING
STRUCTURAL
FRAMING

5'-
6"

2'-
0"

1 1/2"
3/4"

1 3/4"

ROOF FLASHING AT PIPE
COLUMNS

SEE STRUCTURAL
DRAWINGS FOR PIPE
COLUMN
ATTACHMENT

Architecture
Planning

Dorschner|Associates, Inc.

PROJECT

DRAWING

ISSUE

DATE

849 East Washington Ave., Ste 112
Madison, Wisconsin  53703

Phone:  608.204.0777
Fax:  608.204.0778

DAY RESOURCE CENTER

ROOF PLAN AND DETAILS

A203

03.09.17

615 EAST WASHINGTON
AVENUE

MADISON, WI

 3/16" = 1'-0"1 ROOF PLAN

 3/16" = 1'-0"2 ELEVATION

 1 1/2" = 1'-0"3 DETAIL
 1 1/2" = 1'-0"4 DETAIL

 3/4" = 1'-0"5 DETAIL

 1 1/2" = 1'-0"6 DETAIL







FIRST FLOOR
100' - 0"

TOP OF FENCE
107' - 8"

7 1
/4"

7'-
8"

6" 3'-6"

FORMED METAL TO MATCH
COPING - SLOPE FOR DRAINAGE
AND SEAL ALL JOINTS

6" METAL STUD FRAMING TYPICAL

5/8" TREATED PLYWOOD

1" X 6" CEDAR BOARDS OVER
GALV STEEL CHANNELS ON GALV
STEEL COLUMNS

RECESSED LIGHT FIXTURE

8'-
3 1

/4"

4'-0"

HSS 3" X 3" X 1/4"

18" DIA AUGERED PIER

EXISTING ASPHALT

BASE PLATE 1" X 12" X 12" WITH (4) 3/4"
DIA ANCHOR BOLTS X 12" LONG

1" NON-SHRINK GROUT

FIRST FLOOR
100' - 0"

7'-
8"

1"
6"

1"

6"

1"

1" X 6" CEDAR BOARDS OVER GALV
STEEL CHANNELS ON GALV STEEL
COLUMNS

HSS 3" X 3" X 1/4"

18" DIA AUGERED PIER

EXISTING ASPHALT

4 7/8"PROVIDE WELDED, GALV STEEL
COVER AT TOP OF COLUMNS THAT
ARE OPEN TO THE ELEMENTS

BASE PLATE 1" X 12" X 12" WITH (4)
3/4" DIA ANCHOR BOLTS X 12" LONG

1" NON-SHRINK GROUT

FIRST FLOOR
100' - 0"

FORMED METAL TO MATCH
COPING - SLOPE FOR DRAINAGE
AND SEAL ALL JOINTS

6" METAL STUD FRAMING TYPICAL

RECESSED LIGHT FIXTURE

1" X 6" CEDAR BOARDS OVER
GALV STEEL CHANNELS ON GALV
STEEL TUBES AT GATE

HSS 2" X 1" X 1/8" GALV STEEL
TUBES AT GATE

5/8" TREATED PLYWOOD

BURNISHED BLOCK WITH METAL
COPING

METAL COPING

7'-
8"

7 1
/4"

1"
7'-

6"
  G

AT
E

1"

2'-1 5/8"

9 5/8"1'-2 3/8"1 5/8"

1'-2 1/8"

1 7/8"

1"

4
A600

7'-
8"

7 1
/4"

1'-
0 3

/4"

7'-0 5/8" 6'-0"

7'-
8"

1" X 6" CEDAR BOARDS OVER GALV
STEEL CHANNELS ON GALV STEEL
COLUMNS

FORMED METAL TO MATCH
COPING

BURNISHED BLOCK WITH METAL
COPING

METAL COPING

3'-10 5/8"
1"

3'-0"  GATE 1"

FIRST FLOOR
100' - 0"

FORMED METAL TO MATCH COPING
- SLOPE FOR DRAINAGE AND SEAL

ALL JOINTS

6" METAL STUD FRAMING TYPICAL

RECESSED LIGHT FIXTURE

1" X 6" CEDAR BOARDS OVER
GALV STEEL CHANNELS ON GALV

STEEL COLUMNS

5/8" TREATED PLYWOOD

4'-0"

8'-
3 1

/4"

7'-
8"

7 1
/4"

8 5/8" 4 7/8" 2'-10 1/2"

HSS 3" X 3" X 1/4"

18" DIA AUGERED PIER

EXISTING ASPHALT

BASE PLATE 1" X 12" X 12" WITH (4) 3/4"
DIA ANCHOR BOLTS X 12" LONG

1" NON-SHRINK GROUT

Architecture
Planning

Dorschner|Associates, Inc.

PROJECT

DRAWING

ISSUE

DATE

849 East Washington Ave., Ste 112
Madison, Wisconsin  53703

Phone:  608.204.0777
Fax:  608.204.0778

DAY RESOURCE CENTER

EXTERIOR DETAILS

A600

03.09.17

615 EAST WASHINGTON
AVENUE

MADISON, WI

 1" = 1'-0"1 FENCE SECTION
 1" = 1'-0"3 FENCE SECTION

 1" = 1'-0"4 FENCE SECTION

 1" = 1'-0"5 PARTIAL ELEVATION

 1" = 1'-0"2 FENCE SECTION





A701

Architecture

Planning

849 E. Washington Ave., Ste 112

Madison, Wisconsin 53703

Dorschner Associates, Inc.

DRAWING

DATE

D O R S C H N E R

ASSOCIATES

ISSUED

PROJECT

WALL PARTITION TYPES

1







HSS3X
3X

1/4

HSS3X
3X

1/4

HSS3X
3X

1/4

HSS3X
3X

1/4

HSS3X
3X

1/4

HSS3X
3X

1/4

HSS3X
3X

1/4

HSS3X
3X

1/4

H
SS

3X
3X

1/
4

H
SS

3X
3X

1/
4

H
SS

3X
3X

1/
4

H
SS

3X
3X

1/
4

H
SS

3X
3X

1/
4

H
SS

3X
3X

1/
4

H
SS

3X
3X

1/
4

H
SS

3X
3X

1/
4

600S162-43(33) 600S162-43(33) 600S162-43(33) 600S162-43(33)

600T125-43(33)600T125-43(33)600T125-43(33)600T125-43(33) 600T125-43(33) 600T125-43(33) 600T125-43(33)

600T125-43(33)600T125-43(33)600T125-43(33)600T125-43(33) 600T125-43(33) 600T125-43(33) 600T125-43(33)

600S162-43(33) 600S162-43(33) 600S162-43(33)

2 1/8" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 2 1/8"

S101
2

(3
 E

QU
AL

 S
PA

CE
S)

4'-
0"

  O
VE

RA
LL

 W
ID

TH

6"
3'-

6"

42'-4 1/4"  OVERALL LENGTH

CONSTRUCT MASONRY PIERS AROUND
STEEL AS NECESSARY - SEE
ARCHITECTURAL DRAWINGS FOR SIZE AND
LOCATION OF MASONRY PIERS

6

S101
7

S101

600S162-43(33) 600S162-43(33) 600S162-43(33) 600S162-43(33) 600S162-43(33) 600S162-43(33) 600S162-43(33)

600T125-43(33)

600S162-43(33) 600S162-43(33)

600T125-43(33)

60
0T

12
5-

43
(3

3)

60
0T

12
5-

43
(3

3)

600T125-43(33)

600T125-43(33)

HSS3X
3X

1/4

H
SS

3X
3X

1/
4

4

S101

5

S101

600S162-43(33) 600S162-43(33)

3

S101

5/8" TREATED PLYWOOD DECKING
WITH #12 TEK SCREWS AT 12" OC

600S162-43 PURLINS ATTACHED
INTO TRACKS MOUNTED TO
FRAME

16 GA BENT PLATE WITH (2) #12
TEK SCREWS AT EACH MEMBER

HSS 3" X 3" X 1/4" FRAME BEAM

600T125-43 ATTACHED TO HSS
FRAME WITH #12 TEK SCREWS
AT 12" OC

HSS 3" X 3" X 1/4" FRAME BEAM

HSS 3" X 3" X 1/4" FRAME LEG NOTE: ATTACHED LIGHT GAGE
FRAMING NOT SHOWN FOR

CLARITY

4'-
0"

HSS 3" X 3" X 1/4" FRAME LEG

1" X 12" X 12" BASE PLATE

1" NS GROUT

(4) 3/4" DIA X 12" ANCHOR BOLTS

(6) #6 VERTICAL AND #3
TIES AT 12" OC

CAST CONCRETE PIER FOR MASONRY
SUPPORT - SEE ARCHITECTURAL FOR
SIZE AND LOCATION

MUDSLAB

4'-
0"

HSS 3" X 3" X 1/4" FRAME LEG

1" X 12" X 12" BASE PLATE

1" NS GROUT

(4) 3/4" DIA X 12" ANCHOR BOLTS

18" AUGERED PIER

TOP OF PARAPET
124' - 11"

GALVANIZED 3 1/2"
SCHEDULE 40
PIPE COLUMN

MECHANICAL
SCREEN - SEE
ARCHITECTURAL

EXISTING
STRUCTURAL
FRAMING

ANGLE 2 1/2" X 2 1/2" X 1/4"
FROM PIPE COLUMN TO TOP
AND BOTTOM CHORDS OF
EXISTING ROOF JOISTS.
POSTS TO BE PLACED IN
CONTACT WITH JOISTS.

3/16" 2"

3/16" 2"TYP EACH
ANGLE

2"

2"
TYP

ROOF FLASHING AT
PIPE COLUMNS

7"

3"

1/8" CONTINUOUS
BENT PLATE

1/8" 2"

1/8" 2"

7'-
6"

2'-
9"

TOP OF PARAPET
124' - 11"

4

7"

3"

1/8" CONTINUOUS
BENT PLATE

1/8" 2"

1/8" 2"

GALVANIZED 3 1/2"
SCHEDULE 40
PIPE COLUMN

MECHANICAL
SCREEN - SEE
ARCHITECTURAL

ROOF FLASHING AT
PIPE COLUMNS

ANGLE 2 1/2" X 2 1/2" X 1/4"
BRACES TO ADJACENT
JOISTS

ANGLE 2 1/2" X 2 1/2" X 1/4"
FROM PIPE COLUMN TO
CHORDS OF ROOF JOIST AT
TOP AND BOTTOM

2"

2" BACK OF
ANGLES TO
POSTS

3/16" 2"

3/16" 2" TYP EACH
BRACE ANGLE

7'-
6"

2'-
9"

A

1"
10

"
1"

1'-
0"

1"

EXISTING MASONRY BEARING WALL

5/8" DIA THREADED ROD X 4" SET IN
SIMPSON ACRYLIC ADHESIVE WITH
SCREEN TUBES AS NECESSARY -
(4) TOTAL, (2) AT EACH ANGLE

1"

3 SIDES

(2) ANGLE 3" X 3" X 12" LONG

NEW W 16 X 26 PARTITION
SUPPORT BEAM

B

5"

10
"

1 1
/2"

4 1
/4"

(2) 5" X 2" X 10" X 1/4" BENT PLATE

EXISITNG BEAM AND BAR JOIST

NEW W16 X 26 BEAM

3 SIDES

1/4" X 8" X 8" BENT
PLATEMOUNTED TO
EXISTING ROOF DECK.

NEW W 16 X 26 BEAM

EXISITNG METAL DECKING

4 1
/4"

13

S101

RIB

RIB

RIB

RIB

RIB

1"6"1"

8"
2"

6"
6"

2"

1'-
4"

1/4" X 8" X 8" X 16" LONG
BENT PLATE. FASTEN
TO EXISTING ROOF
DECK RIBS WITH (6) #12
TEK SCREWS.

NEW W 16 X 26 BEAM

B

A

6 5

W
16

X2
6

EX
IS

TI
NG

 JO
IS

T 
FR

AM
IN

G

EX
IS

TI
NG

 JO
IS

T 
FR

AM
IN

G

EX
IS

TI
NG

 JO
IS

T 
FR

AM
IN

G

EX
IS

TI
NG

 JO
IS

T 
FR

AM
IN

G

EQ
EQ

EQ

10

S101

11

S101

12

S101

PA
RT

IT
IO

N 
SU

PP
OR

T 
BE

AM

EXISTING W 18 BEAM

5/8" TREATED PLYWOOD DECKING
WITH #12 TEK SCREWS AT 12" OC

600T125-43 AT EDGES

16 GA BENT PLATE WITH (2) #12
TEK SCREWS AT EACH MEMBER

HSS 3" X 3" X 1/4" FRAME BEAM
BEYOND

600T125-43 ATTACHED TO HSS
FRAME WITH #12 TEK SCREWS
AT 12" OC

SEE ARCHITECTURAL DRAWINGS
FOR CANOPY DETAILS

Architecture
Planning

Dorschner|Associates, Inc.

PROJECT

DRAWING

ISSUE

DATE

849 East Washington Ave., Ste 112
Madison, Wisconsin  53703

Phone:  608.204.0777
Fax:  608.204.0778

DAY RESOURCE CENTER

STRUCTURAL PLANS AND
DETAILS

S101

03.09.17

615 EAST WASHINGTON
AVENUE

MADISON, WI

 1/2" = 1'-0"1 PARTIAL PLAN

 1" = 1'-0"2 DETAIL

 3" = 1'-0"4 DETAIL

 3" = 1'-0"5 DETAIL

 1 1/2" = 1'-0"6 DETAIL

 1 1/2" = 1'-0"7 DETAIL

 3/4" = 1'-0"8 DETAIL

 3/4" = 1'-0"9 DETAIL

 1 1/2" = 1'-0"10 DETAIL
 1 1/2" = 1'-0"11 DETAIL

 1 1/2" = 1'-0"12 DETAIL

 1 1/2" = 1'-0"13 DETAIL

 1/4" = 1'-0"14

PARTIAL PLAN - PARTITION SUPPORT
BEAM

 3" = 1'-0"3 DETAIL



FIRST FLOOR
100' - 0"

B

4"
7'-

0"

6"  MIN BEARING
(2) ANGLE 4" X 3" X 5/16"
LLV AT EXISTING WALL

SHORE EXISTING
TEMPORARILY

NEW HSS 6" X 3" X 1/4"
COLUMN

6"

DRILL AND ADHERE (2) #6
BARS AT 6" OC FROM
EXISTING THICKENED SLAB
TO FOUNDATION WALL. USE
SIMPSON ACRYLIC
ADHESIVE (AT).

EXISTING FOUNDATION
WALL

EXISTING THICKENED SLAB

2

S102

NEW DOOR

2

3"

HSS 6" X 3" X 1/4" COLUMN

COPE FRONT OFF HSS
FOR ACCESS TO
COLUMN ANCHOR BOLT

1/2" X 4" X 7" BASE PLATE
WITH (1) 3/4" DIA X 3 1/2"
EXPANSION BOLT

6"

8"

1'-6"

EXISTING FOUNDATION WALL

SLOPE

NEW CONCRETE STOOP

#4 X 2'-0" AT 12" OC

2' OF FREE DRAINING
GRAVEL FILL

Architecture
Planning

Dorschner|Associates, Inc.

PROJECT

DRAWING

ISSUE

DATE

849 East Washington Ave., Ste 112
Madison, Wisconsin  53703

Phone:  608.204.0777
Fax:  608.204.0778

DAY RESOURCE CENTER

STRUCUTRAL DETAILS

S102

03.09.17

615 EAST WASHINGTON
AVENUE

MADISON, WI

 3/4" = 1'-0"1 SECTION

 1 1/2" = 1'-0"2 DETAIL

 1 1/2" = 1'-0"3 DETAIL


	G100
	C100
	C200
	L100
	D200
	A100
	A200
	A203 - ROOF PLAN AND DETAILS
	A300
	A500
	A600 - EXTERIOR DETAILS
	A700
	A701 - PARTITION TYPES
	A800
	A900
	S101 - STRUCTURAL PLANS AND DETAILS
	S102 - STRUCTURAL DETAILS

